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I 1. XD &5 Mo R Z KD X

i

(1) DDA, %D 3 (2) DDA, D T
(3) AUDDSRL (—3,4), P1EH3 6 (4) HDDT (2,5), 85D 2
(5) HUDDI (=1, —8), 28EA /2 (6) HUDLDIRL (—6,1), 1805 2V/3

RIRE 2. RO OAULD FERE » 58 % R X,
(1) (z+2)?+(y—4)2>=16 (2) (z—=5)2+(y—1)%2=4

B) (x+7)+(y+2)?=12 (4) (x—=3)2+(y+6)2=20

IR 3. RXDOMWIZEZ Ko
(1) 2 L A(-1,3),B(5,1) z BRI & T 2HIZOWT, Hb C DEERE L EEE2 KD
Fo ¥ 20HEAZRD X,

(2) 2 R A(1,4),B(—5,0) ZEFEDOMYE § 2 FIZOWT, Hb C DEFE L FEZRD
Fo T ZOHEAZERD X,

i 4. XROGERZED &5 LKEEERT 5.
(1) 22 +y?> +62—2y+1=0 (2) 22 +y?> — 42— 10y + 13 =0

I 5. XD 3 K%l 2 MO ERERD &
(1) A(_47 2)7B<27 _6)7C(37 1) (2) A<_1a _Q)aB<17 O),C(5, _2)



R

WE 1. RO XS MO ELERD X,

(1) DDA, HED3 5 (2) DDA, %D 8
(3) DD (=2, 1), 4807 3 (4) FUDDS R (3,4), K% 4
(5) HDAIE (—4, —5), H1EAH V6 (6) HDDI (—8,2), H1ED8 32

B 2. ROMHDOHILDFERE Y Y22 KD K,
(1) (z+1)2 + (y— 3)? = 36 (2) (-4 +y* =9

3) (z+5)2+(y+3)?2=18 (4) (x—1)2+ (y+8)2 =98

W 3. ROMWIZE R Ko
(1) 2 K A(-3,1),B(5,3) ZEEDMYH & § 2 FIZOWT, Hb C DEFE L FEZRD
Fo ¥ 20HEAZRD X

(2) 2 5 A5, —1),B(7,3) FEEOTH L T2 FIcoWCT, il C QR L 1% R
o F72. Z2OHERZTRD X,

HE 4. ROGERIZED X S BB Z KT D
(1) 22 +y*>+62+4y—3=0 (2) 22 +y* —22+8y+13=0

ME 5. XD 3Kzl sMHOAEAZRD X,
(1) A(_37 0)7B(_15 _4)30(07 _1) (2) A(Ov 1)5B(27 _1)70(67 7)



s

il 1.
) a?+y*=9 (22249 =49 (3) (@ +3)*+ (y—4)? =36

4) (x—22%+(y—5)2=4 () (z+1)2+wy+8)2?=2 (6) (z+6)2+(y—1)2=12

(1) Hls (—2,4), 24 (2) D (5,1), 22 (3) Hd (=7, -2), ¥1E 23

1R 3.

(1) Tl (2,2), 68 VIO, (z - 2)2 + (y — 2)* = 10
(2) I:P‘\\ (_27 2)> :l:/% \/ﬁv (3’] + 2)2 + (y - 2>2 =13
fil 4.

(1) Hu (—3,1), B3 (2) b (2,5), H0% 4

fHE 5.
() 2?2 +y* +22+4y—20=0 (2) 2> +y?> -4z +6y+3=0



w1

()22 +9y?2=25 (2)22+y>=64 (3)
(5) (x+4)%?+(y+5)2=6 (6) (x+8

(4) (x—3)2+(y—4)2 =16

W 2.

(1) b (—1,3), FE 6 (2) Hub (4,0), 3 (3) Hd (5,3), F

(4) Hudy (1, —8), 1% 72

HE 4.

—1)2+(y—2)2=17

(1) Al (=3, -2), F1F 4 (2) Fd (1, -4), B2

HE 5.
(1) 22 +y? +42+4y+3=0

(2) 22 +y?> -8z —6y+5=0



